Question 1
(a) Green
(b) Red

(c) Va
Question 2:
(a) French
(b) Spanish
(c) %

(d) 150
Question 3
(a) Wwalk
(b) Cycle
(c) Ya

(d) 1/3
(e) 9

(f) 12
Question 4:
(a) 6

(b) 8

(c) 10

Question 5:
(a) 1/6
(b) 1/10
(c) 1/5
(d) 1/9
(e) 152
(f) 15

(9) 9

(h) 10

(i) 18

(G) 38



Question 6:
(a) 1/9
(b) 2/3
(c) 60
(d) 2/9
Question 7:
(a) 90

(b) 54

(c) 45

(d) 54
(e) 27
Apply:
Question 1:
(a) 28%
(b) 240
(c) 420
Question 2:
(a) True
(b) True
(c) Cannot tell
(d) True
(e) False

Question 3: Barry’s share £147 and he invested £42

Question 4: (Pizza 65°) 195 people



